

АЛГЕБРО-ЛОГИЧЕСКИЕ МЕТОДЫ В ИНФОРМАТИКЕ
И ИСКУССТВЕННЫЙ ИНТЕЛЛЕКТ

ALGEBRAIC AND LOGICAL METHODS IN COMPUTER
SCIENCE AND ARTIFICIAL INTELLIGENCE



Серия «Математика»

2025. Т. 52. С. 120–136

Онлайн-доступ к журналу:
<http://mathizv.isu.ru>

ИЗВЕСТИЯ

Иркутского
государственного
университета

Research article

УДК 510.67

MSC 03C64, 03C07

DOI <https://doi.org/10.26516/1997-7670.2025.52.120>

Algebras of Binary Formulas for Weakly Circularly Minimal Theories: Monotonic-to-left Case

Aizhan B. Altayeva¹, Beibut Sh. Kulpeshov^{2,3}✉

¹ International Information Technology University, Alma-Ata, Kazakhstan

² Institute of Mathematics and Mathematical Modeling, Alma-Ata, Kazakhstan

³ Kazakh-British Technical University, Alma-Ata, Kazakhstan

✉ b.kulpeshov@kbtu.kz

Abstract. This article concerns the notion of weak circular minimality being a variant of \mathcal{O} -minimality for circularly ordered structures. Algebras of binary isolating formulas are studied for \aleph_0 -categorical 1-transitive non-primitive weakly circularly minimal theories of convexity rank greater than 1 with a trivial definable closure having a non-trivial monotonic-to-left function acting on the universe of a structure. On the basis of the study, the authors present a description of these algebras. It is shown that for this case there exist only non-commutative algebras. A strict m -deterministicity of such algebras for some natural number m is also established.

Keywords: algebra of binary formulas, \aleph_0 -categorical theory, weak circular minimality, circularly ordered structure, convexity rank

Acknowledgements: This work was supported by Science Committee of Ministry of Science and Higher Education of the Republic of Kazakhstan, Grant No. AP22685890.

For citation: Altayeva A.B., Kulpeshov B.Sh. Algebras of Binary Formulas for Weakly Circularly Minimal Theories: Monotonic-to-left Case. *The Bulletin of Irkutsk State University. Series Mathematics*, 2025, vol. 52, pp. 120–136.
<https://doi.org/10.26516/1997-7670.2025.52.120>

Научная статья

Алгебры бинарных формул для слабо циклически минимальных теорий: монотонный влево случай

А. В. Алтаева¹, Б. Ш. Кулпешов^{2,3✉}

¹ Международный университет информационных технологий, Алма-Ата, Казахстан

² Институт математики и математического моделирования МНВО РК, Алма-Ата, Казахстан

³ Казахстанско-Британский технический университет, Алма-Ата, Казахстан

✉ b.kulpeshov@kbtu.kz

Аннотация. Рассматривается понятие слабой циклической минимальности, являющееся вариантом о-минимальности для циклически упорядоченных структур. Исследуются алгебры бинарных изолирующих формул для \aleph_0 -категоричных 1-транзитивных непримитивных слабо циклически минимальных теорий ранга выпуклости большего 1 с тривиальным определимым замыканием, имеющих нетривиальную монотонную влево функцию, действующую на основном множестве структуры. Представлено описание этих алгебр. Показано, что для данного случая существуют только некоммутативные алгебры. Также устанавливается строгая m -детерминированность таких алгебр для некоторого натурального числа m .

Ключевые слова: алгебра бинарных формул, \aleph_0 -категоричная теория, слабая циклическая минимальность, циклически упорядоченная структура, ранг выпуклости

Ссылка для цитирования: Altayeva A. B., Kulpeshov B. Sh. Algebras of Binary Formulas for Weakly Circularly Minimal Theories: Monotonic-to-left Case // Известия Иркутского государственного университета. Серия Математика. 2025. Т. 52. С. 120–136. <https://doi.org/10.26516/1997-7670.2025.52.120>

1. Preliminaries

Let L be a countable first-order language. Throughout we consider L -structures and assume that L contains a ternary relational symbol K , interpreted as a circular order in these structures (unless otherwise stated).

The *circular order* is described by a ternary relation K satisfying the following conditions:

- (co1) $\forall x \forall y \forall z (K(x, y, z) \rightarrow K(y, z, x))$;
- (co2) $\forall x \forall y \forall z (K(x, y, z) \wedge K(y, x, z) \Leftrightarrow x = y \vee y = z \vee z = x)$;
- (co3) $\forall x \forall y \forall z (K(x, y, z) \rightarrow \forall t [K(x, y, t) \vee K(t, y, z)])$;
- (co4) $\forall x \forall y \forall z (K(x, y, z) \vee K(y, x, z))$.

The following observation relates linear and circular orders.

Proposition 1. [4] *If $\langle \mathcal{M}, \leq \rangle$ is a linear ordering and K is the ternary relation derived from \leq by the rule*

$$K(x, y, z) :\Leftrightarrow (x \leq y \leq z) \vee (z \leq x \leq y) \vee (y \leq z \leq x)$$

then K is a circular order relation on \mathcal{M} .

The notion of *weak circular minimality* was studied initially in [14]. Let $A \subseteq M$, where \mathcal{M} is a circularly ordered structure. The set A is called *convex* if for any $a, b \in A$ the following property is satisfied: for any $c \in M$ with $K(a, c, b)$, $c \in A$ holds, or for any $c \in M$ with $K(b, c, a)$, $c \in A$ holds. A *weakly circularly minimal structure* is a circularly ordered structure $\mathcal{M} = \langle M, K, \dots \rangle$ such that any definable (with parameters) subset of M is a union of finitely many convex sets in M . The study of weakly circularly minimal structures was continued in the papers [15]–[21].

Let \mathcal{M} be an \aleph_0 -categorical weakly circularly minimal structure, $G := \text{Aut}(\mathcal{M})$. Following the standard group theory terminology, the group G is called *k-transitive* if for any pairwise distinct $a_1, a_2, \dots, a_k \in M$ and pairwise distinct $b_1, b_2, \dots, b_k \in M$ there exists $g \in G$ such that $g(a_1) = b_1, g(a_2) = b_2, \dots, g(a_k) = b_k$. A *congruence* on \mathcal{M} is an arbitrary G -invariant equivalence relation on \mathcal{M} . The group G is called *primitive* if G is 1-transitive and there are no non-trivial proper congruences on \mathcal{M} .

Definition 1. (1) $K_0(x, y, z) := K(x, y, z) \wedge y \neq x \wedge y \neq z \wedge x \neq z$.

(2) $K'(u_1, \dots, u_n)$ denotes a formula saying that all subtuples of the tuple $\langle u_1, \dots, u_n \rangle$ having the length 3 (in ascending order) satisfy K , i.e.

$$K'(u_1, \dots, u_n) := \bigwedge \bigwedge_{1 \leq i < j < m \leq n} K(u_i, u_j, u_m) \wedge K(u_{n-1}, u_n, u_1) \\ \wedge K(u_n, u_1, u_2).$$

Similar notations are used for K_0 .

(3) Let A, B, C be disjoint convex subsets of a circularly ordered structure \mathcal{M} . We write $K(A, B, C)$ if for any $a, b, c \in M$ with $a \in A$, $b \in B$, $c \in C$ we have $K(a, b, c)$.

Further we need the notion of the definable completion of a circularly ordered structure, introduced in [14]. Its linear analog was introduced in [24]. A *cut* $C(x)$ in a circularly ordered structure \mathcal{M} is maximal consistent set of formulas of the form $K(a, x, b)$, where $a, b \in M$. A cut is said to be *algebraic* if there exists $c \in M$ that realizes it. Otherwise, such a cut is said to be *non-algebraic*. Let $C(x)$ be a non-algebraic cut. If there is some $a \in M$ such that either for all $b \in M$ the formula $K(a, x, b) \in C(x)$, or for all $b \in M$ the formula $K(b, x, a) \in C(x)$, then $C(x)$ is said to be *rational*. Otherwise, such a cut is said to be *irrational*. A *definable cut* in M is a cut $C(x)$ with the following property: there exist $a, b \in M$ such that $K(a, x, b) \in C(x)$ and the set $\{c \in M \mid K(a, c, b) \text{ and } K(a, x, c) \in C(x)\}$ is definable. The *definable completion* \overline{M} of a structure \mathcal{M} consists of M together with all definable cuts in \mathcal{M} that are irrational (essentially \overline{M} consists of endpoints of definable subsets of the structure \mathcal{M}).

Definition 2. [14] Let $F(x, y)$ be an L -formula such that $F(M, b)$ is convex infinite co-infinite for each $b \in M$. Let $F^l(y)$ be the formula saying y is a left endpoint of $F(M, y)$:

$$\begin{aligned} \exists z_1 \exists z_2 [K_0(z_1, y, z_2) \wedge \forall t_1 (K(z_1, t_1, y) \wedge t_1 \neq y \rightarrow \neg F(t_1, y)) \wedge \\ \forall t_2 (K(y, t_2, z_2) \wedge t_2 \neq y \rightarrow F(t_2, y))]. \end{aligned}$$

We say that $F(x, y)$ is *convex-to-right* if

$$M \models \forall y \forall x [F(x, y) \rightarrow F^l(y) \wedge \forall z (K(y, z, x) \rightarrow F(z, y))].$$

Consider $F(M, a)$ for arbitrary $a \in M$. In general, $F(M, a)$ has no the right endpoint in M . For example, if $dcl(a) = \{a\}$ holds for some $a \in M$ then for any convex-to-right formula $F(x, y)$ and any $a \in M$ the formula $F(M, a)$ has no the right endpoint in M . We write $f(y) := \text{rend } F(M, y)$, assuming that $f(y)$ is the right endpoint of the set $F(M, y)$ that lies in general in the definable completion \overline{M} of \mathcal{M} . Then f is a function mapping \mathcal{M} in \overline{M} .

Definition 3. Let $E(x, y)$ be an \emptyset -definable equivalence relation partitioning M into infinite convex classes. Suppose that y lies in \overline{M} (non-obligatory in M). Then

$$E^*(x, y) := \exists y_1 \exists y_2 [y_1 \neq y_2 \wedge \forall t (K(y_1, t, y_2) \rightarrow E(t, x)) \wedge K_0(y_1, y, y_2)].$$

Let \mathcal{M}, \mathcal{N} be circularly ordered structures. The 2-reduct of \mathcal{M} is a circularly ordered structure with the same universe of \mathcal{M} and consisting of predicates for each \emptyset -definable relation on \mathcal{M} of arity ≤ 2 as well as of the ternary predicate K for the circular order, but does not have other predicates of arities more than two. We say that the structure \mathcal{M} is *isomorphic* to \mathcal{N} *up to binarity* or *binarily isomorphic* to \mathcal{N} if the 2-reduct of \mathcal{M} is isomorphic to the 2-reduct of \mathcal{N} .

Let f be a unary function from \mathcal{M} to \overline{M} . We say that f is *monotonic-to-right (left) on M* if it preserves (reverses) the relation K_0 , i.e. for any $a, b, c \in M$ such that $K_0(a, b, c)$, we have $K_0(f(a), f(b), f(c))$ ($K_0(f(c), f(b), f(a))$).

Let $F'(x, y) := \exists t [F(t, y) \wedge F(x, t)]$, where $F(x, y)$ is a convex-to-right formula. Denote by $f^2(y)$ the right endpoint of $F'(M, y)$ in \overline{M} .

Lemma 1. [15] Let \mathcal{M} be an \aleph_0 -categorical 1-transitive weakly circularly minimal structure, $F(x, y)$ be a convex-to-right formula so that $f(y) := \text{rend } F(M, y)$ is monotonic-to-left on M . Then $f^2(a) = a$ for all $a \in M$.

The following definition can be used in a circular ordered structure as well.

Definition 4. [22], [23] Let T be a weakly o-minimal theory, \mathcal{M} be a sufficiently saturated model of T , $A \subseteq M$. The rank of convexity of the set A ($RC(A)$) is defined as follows:

- 1) $RC(A) = 0$ if A is finite and non-empty.
- 2) $RC(A) \geq 1$ if A is infinite.
- 3) $RC(A) \geq \alpha + 1$ if there exist a parametrically definable equivalence relation $E(x, y)$ and an infinite sequence of elements $b_i \in A, i \in \omega$, such that:
 - For every $i, j \in \omega$ whenever $i \neq j$ we have $M \models \neg E(b_i, b_j)$;
 - For every $i \in \omega$, $RC(E(M, b_i)) \geq \alpha$ and $E(M, b_i)$ is a convex subset of A .
- 4) $RC(A) \geq \delta$ if $RC(A) \geq \alpha$ for all $\alpha < \delta$, where δ is a limit ordinal.

If $RC(A) = \alpha$ for some α , we say that $RC(A)$ is defined. Otherwise (i.e. if $RC(A) \geq \alpha$ for all α), we put $RC(A) = \infty$.

The rank of convexity of a formula $\phi(x, \bar{a})$, where $\bar{a} \in M$, is defined as the rank of convexity of the set $\phi(M, \bar{a})$, i.e. $RC(\phi(x, \bar{a})) := RC(\phi(M, \bar{a}))$.

The following theorem characterizes up to binarity \aleph_0 -categorical 1-transitive non-primitive weakly circularly minimal structures \mathcal{M} of convexity rank greater than 1 having both a trivial definable closure and a convex-to-right formula $R(x, y)$ such that $r(y) := \text{rend } R(M, y)$ is monotonic-to-left on M :

Theorem 1. [15] Let \mathcal{M} be an \aleph_0 -categorical 1-transitive non-primitive weakly circularly minimal structure of convexity rank greater than 1 such that $\text{dcl}(a) = \{a\}$ for some $a \in M$. Suppose that there exists a convex-to-right formula $R(x, y)$ such that $r(y) := \text{rend } R(M, y)$ is monotonic-to-left on M . Then \mathcal{M} is isomorphic up to binarity to

$$\mathcal{M}'_{s,2,2} := \langle M, K^3, E_1^2, E_2^2, \dots, E_s^2, E_{s+1}^2, R^2 \rangle,$$

where \mathcal{M} is a circularly ordered structure, M is densely ordered, $s \geq 1$; E_{s+1} is an equivalence relation partitioning M into two infinite convex classes without endpoints; E_i for every $1 \leq i \leq s$ is an equivalence relation partitioning every E_{i+1} -class into infinitely many infinite convex E_i -subclasses without endpoints so that the induced order on E_i -subclasses is dense without endpoints; $R(M, a)$ has no right endpoint in M and $r^2(a) = a$ for all $a \in M$, where $r^2(y) := r(r(y))$.

Algebras of binary formulas are a tool for describing relationships between elements of the sets of realizations of an one-type at the binary level with respect to the superposition of binary definable sets. A *binary isolating formula* is a formula of the form $\varphi(x, y)$ such that for some parameter a the formula $\varphi(a, y)$ isolates a complete type in $S(\{a\})$. The concepts and notations related to these algebras can be found in the papers [25; 26]. In

recent years, algebras of binary formulas have been studied intensively and have been continued in the works [1], [3], [7]–[13].

In [9] algebras of binary isolating formulas are described for \aleph_0 -categorical weakly circularly minimal theories with a primitive automorphism group. In [10] algebras of binary isolating formulas are described for \aleph_0 -categorical weakly circularly minimal theories of convexity rank 1 with a 1-transitive non-primitive automorphism group and a non-trivial definable closure. In [11]–[12] algebras of binary isolating formulas are described for \aleph_0 -categorical weakly circularly minimal theories of convexity rank greater than 1 with a 1-transitive non-primitive automorphism group and a non-trivial definable closure. In [13] algebras of binary isolating formulas are described for \aleph_0 -categorical weakly circularly minimal theories of convexity rank 1 with a 1-transitive non-primitive automorphism group and a trivial definable closure. Here we describe algebras of binary isolating formulas for \aleph_0 -categorical weakly circularly minimal theories of convexity rank greater than 1 with a 1-transitive non-primitive automorphism group and a trivial definable closure.

2. Results

Definition 5. [26] Let $p \in S_1(\emptyset)$ be non-algebraic. The algebra $\mathcal{P}_{\nu(p)}$ is said to be *deterministic* if $u_1 \cdot u_2$ is a singleton for any labels $u_1, u_2 \in \rho_{\nu(p)}$.

Generalizing the last definition, we say that the algebra $\mathcal{P}_{\nu(p)}$ is *m-deterministic* if the product $u_1 \cdot u_2$ consists of at most m elements for any labels $u_1, u_2 \in \rho_{\nu(p)}$. We also say that an m -deterministic algebra $\mathcal{P}_{\nu(p)}$ is *strictly m-deterministic* if it is not $(m - 1)$ -deterministic.

Example 1. Consider the structure $\mathcal{M}'_{1,2,2} := \langle M, K^3, E_1^2, E_2^2, R^2 \rangle$ from Theorem 1 with the condition that the function $r(y) := \text{rend } R(M, y)$ is monotonic-to-left on M . Here $E_2(x, y)$ is an equivalence relation partitioning M into two infinite convex classes.

We assert that $Th(\mathcal{M}'_{1,2,2})$ has nine binary isolating formulas:

$$\begin{aligned} \theta_0(x, y) &:= x = y, & \theta_1(x, y) &:= K_0(x, y, r(x)) \wedge E_1(x, y), \\ \theta_2(x, y) &:= K_0(x, y, r(x)) \wedge E_2(x, y) \wedge \neg E_1(x, y), \\ \theta_3(x, y) &:= K_0(x, y, r(x)) \wedge \neg E_2(x, y) \wedge \neg E_1^*(y, r(x)), \\ \theta_4(x, y) &:= K_0(x, y, r(x)) \wedge \neg E_2(x, y) \wedge E_1^*(y, r(x)), \\ \theta_5(x, y) &:= K_0(r(x), y, x) \wedge \neg E_2(x, y) \wedge E_1^*(y, r(x)), \\ \theta_6(x, y) &:= K_0(r(x), y, x) \wedge \neg E_2(x, y) \wedge \neg E_1^*(y, r(x)), \\ \theta_7(x, y) &:= K_0(r(x), y, x) \wedge E_2(x, y) \wedge \neg E_1(x, y), \end{aligned}$$

$$\theta_8(x, y) := K_0(r(x), y, x) \wedge E_1(x, y),$$

and the following holds for any $a \in M$:

$$K'_0(\theta_0(a, M), \theta_1(a, M), \theta_2(a, M), \theta_3(a, M), \dots, \theta_7(a, M), \theta_8(a, M)).$$

Define labels for these formulas as follows:

$$\text{label } k \text{ for } \theta_k(x, y), \text{ where } 0 \leq k \leq 8.$$

It easy to check that for the algebra $\mathfrak{P}_{\mathcal{M}'_{1,2,2}}$ the following equalities hold:

$$\begin{aligned} 0 \cdot k &= k \cdot 0 = \{k\} \text{ for each } 0 \leq k \leq 8, \\ 1 \cdot k &= \{k\} \text{ for each } 1 \leq k \leq 4, \quad 1 \cdot 5 = \{4, 5\}, \quad 1 \cdot 6 = \{6\}, \quad 1 \cdot 7 = \{7\}, \\ &\text{and } 1 \cdot 8 = \{0, 1, 8\}, \\ 2 \cdot 1 &= \{2\}, \quad 2 \cdot 2 = \{2\}, \quad 2 \cdot 3 = \{3\}, \quad 2 \cdot 4 = \{3\}, \quad 2 \cdot 5 = \{3\}, \\ 2 \cdot 6 &= \{3, 4, 5, 6\}, \quad 2 \cdot 7 = \{0, 1, 2, 7, 8\}, \quad \text{and } 2 \cdot 8 = \{2\}, \\ 3 \cdot 1 &= \{3\}, \quad 3 \cdot 2 = \{3, 4, 5, 6\}, \quad 3 \cdot 3 = \{0, 1, 2, 7, 8\}, \\ 3 \cdot 4 &= \{2\}, \quad 3 \cdot 5 = \{2\}, \quad 3 \cdot 6 = \{2\}, \quad 3 \cdot 7 = \{3\}, \quad 3 \cdot 8 = \{3\}, \\ 4 \cdot 1 &= \{4, 5\}, \quad 4 \cdot 2 = \{6\}, \quad 4 \cdot 3 = \{7\}, \quad 4 \cdot 4 = \{0, 1, 8\}, \\ 4 \cdot 5 &= \{1\}, \quad 4 \cdot 6 = \{2\}, \quad 4 \cdot 7 = \{3\}, \quad 4 \cdot 8 = \{4\}, \\ 5 \cdot 1 &= \{5\}, \quad 5 \cdot 2 = \{6\}, \quad 5 \cdot 3 = \{7\}, \quad 5 \cdot 4 = \{8\}, \quad 5 \cdot 5 = \{0, 1, 8\}, \\ 5 \cdot 6 &= \{2\}, \quad 5 \cdot 7 = \{3\}, \quad 5 \cdot 8 = \{4, 5\}, \\ 6 \cdot 1 &= \{6\}, \quad 6 \cdot 2 = \{6\}, \quad 6 \cdot 3 = \{7\}, \quad 6 \cdot 4 = \{7\}, \quad 6 \cdot 5 = \{7\}, \\ 6 \cdot 6 &= \{0, 1, 2, 7, 8\}, \quad 6 \cdot 7 = \{3, 4, 5, 6\}, \quad 6 \cdot 8 = \{6\}, \\ 7 \cdot 1 &= \{7\}, \quad 7 \cdot 2 = \{0, 1, 2, 7, 8\}, \quad 7 \cdot 3 = \{3, 4, 5, 6\}, \quad 7 \cdot 4 = \{6\}, \quad 7 \cdot 5 = \{6\}, \\ 7 \cdot 6 &= \{6\}, \quad 7 \cdot 7 = \{7\}, \quad 7 \cdot 8 = \{7\}, \\ 8 \cdot 1 &= \{0, 1, 8\}, \quad 8 \cdot 2 = \{2\}, \quad 8 \cdot 3 = \{3\}, \quad 8 \cdot 4 = \{4, 5\}, \quad 8 \cdot 5 = \{5\}, \\ 8 \cdot 6 &= \{6\}, \quad 8 \cdot 7 = \{7\}, \quad 8 \cdot 8 = \{8\}. \end{aligned}$$

According to these equalities, the algebra $\mathfrak{P}_{\mathcal{M}'_{1,2,2}}$ is strictly 5-deterministic and not commutative.

The following theorem describes the algebra $\mathfrak{P}_{\mathcal{M}'_{s,2,2}}$ for every $s \geq 1$ by giving the Cayley table for this algebra.

Theorem 2. *The algebra $\mathfrak{P}_{\mathcal{M}'_{s,2,2}}$ of binary isolating formulas with monotonic-to-left function r has $4s + 5$ labels, is strictly $(2s + 3)$ -deterministic and not commutative for every $s \geq 1$.*

Proof. We assert that the algebra $\mathfrak{P}_{\mathcal{M}'_{s,2,2}}$ has $4s + 5$ binary isolating formulas: $\theta_0(x, y) := x = y$, $\theta_1(x, y) := K_0(x, y, r(x)) \wedge E_1(x, y)$,

$$\theta_{l_1}(x, y) := K_0(x, y, r(x)) \wedge E_{l_1}(x, y) \wedge \neg E_{l_1-1}(x, y), \text{ where } 2 \leq l_1 \leq s + 1$$

$$\theta_{s+2}(x, y) := K_0(x, y, r(x)) \wedge \neg E_{s+1}(x, y) \wedge \neg E_s^*(y, r(x)),$$

$$\begin{aligned} \theta_{l_2}(x, y) &:= K_0(x, y, r(x)) \wedge \neg E_{s+1}(x, y) \wedge E_{2s+3-l_2}^*(y, r(x)) \wedge \\ &\neg E_{2s+2-l_2}^*(y, r(x)), \text{ where } s + 3 \leq l_2 \leq 2s + 1, \end{aligned}$$

$$\begin{aligned}
\theta_{2s+2}(x, y) &:= K_0(x, y, r(x)) \wedge \neg E_{s+1}(x, y) \wedge E_1^*(y, r(x)), \\
\theta_{2s+3}(x, y) &:= K_0(r(x), y, x) \wedge \neg E_{s+1}(x, y) \wedge E_1^*(y, r(x)), \\
\theta_{l_3}(x, y) &:= K_0(r(x), y, x) \wedge \neg E_{s+1}(x, y) \wedge E_{l_3-(2s+2)}^*(y, r(x)) \wedge \\
&\quad \neg E_{l_3-(2s+3)}^*(y, r(x)), \text{ where } 2s+4 \leq l_3 \leq 3s+2, \\
\theta_{3s+3}(x, y) &:= K_0(r(x), y, x) \wedge \neg E_{s+1}(x, y) \wedge \neg E_s^*(y, r(x)), \\
\theta_{l_4}(x, y) &:= K_0(r(x), y, x) \wedge E_{4s+5-l_4}(x, y) \wedge \neg E_{4s+4-l_4}(x, y), \\
&\quad \text{where } 3s+4 \leq l_4 \leq 4s+3, \\
\theta_{4s+4}(x, y) &:= K_0(r(x), y, x) \wedge E_1(x, y).
\end{aligned}$$

Thus, we have $2 + s + 1 + (s - 1) + 2 + (s - 1) + 1 + s + 1 = 4s + 5$ binary isolating formulas. Moreover, we have defined the formulas so that for any $a \in M$ the following holds:

$$K'_0(\theta_0(a, M), \theta_1(a, M), \theta_2(a, M), \dots, \theta_{4s+3}(a, M), \theta_{4s+4}(a, M)).$$

Prove now that the algebra $\mathfrak{P}_{\mathcal{M}'_{s,2,2}}$ is strictly $(2s+3)$ -deterministic and not commutative for every $s \geq 1$. Firstly, obviously that $0 \cdot k = k \cdot 0 = \{k\}$ for any $0 \leq k \leq 4s+4$. Suppose further that $k_1 \neq 0$ and $k_2 \neq 0$.

Consider the following formula: $\exists t[\theta_{k_1}(x, t) \wedge \theta_{k_2}(t, y)]$.

Case 1: $k_1 = 1$. Then we have: $E_1(x, t)$ and $K_0(x, t, r(x))$.

If $k_2 = 1$ then $E_1(t, y)$ and $K_0(t, y, r(t))$. Whence we obtain: $E_1(x, y)$ and $K_0(x, y, r(x))$, i.e. $1 \cdot 1 = \{1\}$.

Suppose now that $2 \leq k_2 \leq s+1$. Then we have: $K_0(t, y, r(t))$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s+1$. Consequently, we obtain the following: $K_0(x, y, r(x))$, $E_l(x, y)$ and $\neg E_{l-1}(x, y)$, i.e. $k_1 \cdot k_2 = \{k_2\}$.

Consider the product $k_2 \cdot 1$. We have the following: $K_0(x, t, r(x))$, $E_l(x, t)$ and $\neg E_{l-1}(x, t)$ for some $2 \leq l \leq s+1$; $K_0(t, y, r(t))$ and $E_1(t, y)$. Whence we obtain: $K_0(x, y, r(x))$, $E_l(x, y)$ and $\neg E_{l-1}(x, y)$, i.e. $k_2 \cdot 1 = \{k_2\}$.

Suppose that $k_2 = s+2$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Consequently, we obtain: $K_0(x, y, r(x))$, $\neg E_{s+1}(x, y)$ and $\neg E_s^*(y, r(x))$, i.e. $k_1 \cdot k_2 = \{k_2\}$.

Consider the product $(s+2) \cdot 1$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $\neg E_s^*(t, r(x))$; $K_0(t, y, r(t))$ and $E_1(t, y)$. Whence we obtain: $K_0(x, y, r(x))$, $\neg E_{s+1}(x, y)$ and $\neg E_s^*(y, r(x))$, i.e. $(s+2) \cdot 1 = \{s+2\}$.

Suppose now that $s+3 \leq k_2 \leq 2s+1$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Whence we obtain: $K_0(x, y, r(x))$, $\neg E_{s+1}(x, y)$, $E_l^*(y, r(x))$ and $\neg E_{l-1}^*(y, r(x))$, i.e. $k_1 \cdot k_2 = \{k_2\}$. We can show similarly that $k_2 \cdot k_1 = \{k_2\}$.

Suppose that $k_2 = 2s+2$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $K_0(x, y, r(x))$, $\neg E_{s+1}(x, y)$ and $E_1^*(y, r(x))$, i.e. $k_1 \cdot k_2 = \{k_2\}$.

Consider the product $(2s+2) \cdot 1$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$; $K_0(t, y, r(t))$ and $E_1(t, y)$. Consequently, we obtain: $\neg E_{s+1}(x, y)$ and $E_1^*(y, r(x))$, but it can be $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$, i.e. $(2s+2) \cdot 1 = \{2s+2, 2s+3\}$.

Thus, the algebra $\mathfrak{P}_{M'_{s,2,2}}$ is not commutative for every $s \geq 1$.

Suppose that $k_2 = 2s+3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $E_1^*(y, r(x))$; moreover, by monotonicity-to-left of the function r we have $K_0(x, t, r(t), r(x))$, i.e. it can be either $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$; consequently, $k_1 \cdot k_2 = \{2s+2, 2s+3\}$. By considering the product $(2s+3) \cdot 1$, we can see that $(2s+3) \cdot 1 = \{2s+3\}$.

Suppose now that $2s+4 \leq k_2 \leq 3s+2$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Whence we obtain: $K_0(r(x), y, x)$, $\neg E_{s+1}(x, y)$, $E_l^*(y, r(x))$ and $\neg E_{l-1}^*(y, r(x))$, i.e. $k_1 \cdot k_2 = \{k_2\}$. We can show similarly that $k_2 \cdot k_1 = \{k_2\}$.

Suppose that $k_2 = 3s+3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Then we also obtain that $k_1 \cdot k_2 = \{k_2\} = k_2 \cdot k_1$.

Suppose now that $3s+4 \leq k_2 \leq 4s+3$. Then we have: $K_0(r(t), y, t)$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s+1$. Whence we obtain: $K_0(r(x), y, x)$, $E_l(x, y)$ and $\neg E_{l-1}(x, y)$, i.e. $k_1 \cdot k_2 = \{k_2\}$. We can show similarly that $k_2 \cdot k_1 = \{k_2\}$.

Suppose that $k_2 = 4s+4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $E_1(x, y)$, wherein y can be anywhere in this class, i.e. $k_1 \cdot k_2 = \{0, 1, 4s+4\}$. We can show similarly that $(4s+4) \cdot 1 = \{0, 1, 4s+4\}$.

Case 2: $2 \leq k_1 \leq s+1$. Then we have: $K_0(x, t, r(x))$, $E_{l_1}(x, t)$ and $\neg E_{l_1-1}(x, t)$ for some $2 \leq l_1 \leq s+1$.

Suppose that $2 \leq k_2 \leq s+1$. Then we have: $K_0(t, y, r(t))$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s+1$. Whence we obtain: if $l_1 \leq l_2$ then $K_0(x, y, r(x))$, $E_{l_2}(x, y)$ and $\neg E_{l_2-1}(x, y)$, i.e. $k_1 \cdot k_2 = \{k_2\}$; if $l_1 > l_2$ then $K_0(x, y, r(x))$, $E_{l_1}(x, y)$ and $\neg E_{l_1-1}(x, y)$, i.e. $k_1 \cdot k_2 = \{k_1\}$.

Suppose that $k_2 = s+2$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Consequently, we obtain: $K_0(x, y, r(x))$, $\neg E_{s+1}(x, y)$ and $\neg E_s^*(y, r(x))$, i.e. $k_1 \cdot k_2 = \{k_2\}$.

Consider the product $(s+2) \cdot k_1$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $\neg E_s^*(t, r(x))$; $K_0(t, y, r(t))$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s+1$. Whence we obtain: $\neg E_{s+1}(x, y)$. Since $\neg E_{s+1}(x, t)$, we have: $K_0(x, r(t), t, r(x))$. Consequently, it can be either $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$. Then $(s+2) \cdot k_1 = \{s+2, s+3, \dots, 3s+3\}$.

Suppose now that $s+3 \leq k_2 \leq 2s+1$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $K_0(x, y, r(x))$ and $\neg E_{s+1}(x, y)$. If $l_1 = s+1$ then $k_1 \cdot k_2 = \{s+2\}$. If $l_1 \geq l_2$ and $l_1 \neq s+1$ then $E_{l_1}^*(y, r(x))$ and $\neg E_{l_1-1}^*(y, r(x))$, whence $k_1 \cdot k_2 = \{2s+3-l_1\}$. If $l_1 < l_2$ then $E_{l_2}^*(y, r(x))$ and $\neg E_{l_2-1}^*(y, r(x))$,

whence $k_1 \cdot k_2 = \{k_2\}$. By considering the product $k_2 \cdot k_1$, we obtain: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$, $E_{l_1}^*(t, r(x))$ and $\neg E_{l_1-1}^*(t, r(x))$ for some $2 \leq l_1 \leq s$; $K_0(t, y, r(t))$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s+1$. Whence we obtain: $\neg E_{s+1}(x, y)$. If $l_1 \geq l_2$ then $k_2 \cdot k_1 = \{k_2, k_2+1, \dots, k_2+2l_1-1\}$. If $l_1 < l_2$ then $k_2 \cdot k_1 = \{k_2\}$.

Suppose that $k_2 = 2s+2$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $K_0(x, y, r(x))$, $\neg E_{s+1}(x, y)$, $E_{l_1}^*(y, r(x))$ and $\neg E_{l_1-1}^*(y, r(x))$ for some $2 \leq l_1 \leq s+1$. Consequently, $k_1 \cdot k_2 = \{2s+3-l_1\}$. Consider the product $(2s+2) \cdot k_1$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$; $K_0(t, y, r(t))$, $E_l^*(t, y)$ and $\neg E_{l-1}^*(t, y)$ for some $2 \leq l \leq s+1$. Whence we obtain: $K_0(r(x), y, x)$, $\neg E_{s+1}(x, y)$, $E_l^*(y, r(x))$ and $\neg E_{l-1}^*(y, r(x))$, i.e. $(2s+2) \cdot k_1 = \{2s+2+l\}$. We can establish similarly that if $k_2 = 2s+3$ then $k_1 \cdot k_2 = \{2s+3-l_1\}$ and $2s+3 \cdot k_1 = \{2s+2+l\}$.

Suppose now that $2s+4 \leq k_2 \leq 3s+2$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $\neg E_{s+1}(x, y)$. If $l_1 \geq l_2$ then it is possible $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$. If $l_1 > l_2$ then $k_1 \cdot k_2 = \{2s+3-l_1\}$. If $l_1 = l_2$ then $k_1 \cdot k_2 = \{k_1, k_1+1, \dots, k_1+2l_1-1\}$. If $l_1 < l_2$ then we have $K_0(r(x), y, x)$ and $k_1 \cdot k_2 = \{2s+2+l_2\}$. By considering the product $k_2 \cdot k_1$ we obtain: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$, $E_{l_1}^*(t, r(x))$ and $\neg E_{l_1-1}^*(t, r(x))$ for some $2 \leq l_1 \leq s$; $K_0(t, y, r(t))$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s+1$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $K_0(r(x), y, x)$. If $l_1 \geq l_2$ then $k_2 \cdot k_1 = \{k_2\}$. If $l_1 < l_2$ then $k_2 \cdot k_1 = \{k_1\}$.

Suppose that $k_2 = 3s+3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Consequently, we obtain: $K_0(r(x), y, x)$, $\neg E_{s+1}(x, y)$ and $\neg E_s^*(y, r(x))$. Consequently, $k_1 \cdot k_2 = \{k_2\}$. By considering the product $(3s+3) \cdot k_1$ we obtain similarly that $k_2 \cdot k_1 = \{k_2\}$.

Suppose now that $3s+4 \leq k_2 \leq 4s+3$. Then we have: $K_0(r(t), y, t)$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s+1$. If $l_1 > l_2$ then $K_0(x, y, r(x))$, $E_{l_1}(x, y)$ and $\neg E_{l_1-1}(x, y)$, and $k_1 \cdot k_2 = \{k_1\}$. If $l_1 = l_2$ then it is possible $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$, and $k_1 \cdot k_2 = \{0, 1, \dots, l_1, 4s+5-l_1, \dots, 4s+4\}$. If $l_1 < l_2$ then $K_0(r(x), y, x)$, $E_{l_2}(x, y)$ and $\neg E_{l_2-1}(x, y)$, and $k_1 \cdot k_2 = \{k_2\}$. By considering the product $k_2 \cdot k_1$ we obtain: $K_0(r(x), t, x)$, $E_{l_1}(x, t)$, $\neg E_{l_1-1}(x, t)$ for some $2 \leq l_1 \leq s+1$; $K_0(t, y, r(t))$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s+1$. Then if $l_1 > l_2$, we have $K_0(r(x), y, x)$ and $k_2 \cdot k_1 = \{k_2\}$. If $l_1 = l_2$ then it is possible $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$, whence we obtain: $k_2 \cdot k_1 = \{0, 1, \dots, l_1, 4s+5-l_1, \dots, 4s+4\}$. If $l_1 < l_2$ then $K_0(x, y, r(x))$ and $k_2 \cdot k_1 = \{k_1\}$.

Suppose that $k_2 = 4s+4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $K_0(x, y, r(x))$, $E_{l_1}(x, y)$ and $\neg E_{l_1-1}(x, y)$, i.e. $k_1 \cdot k_2 = \{k_1\}$. We can show similarly that $(4s+4) \cdot k_1 = \{k_1\}$.

Case 3: $k_1 = s+2$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $\neg E_s^*(t, r(x))$.

If $k_2 = s + 2$ then we obtain: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Then we have: $E_{s+1}(x, y)$. Since $\neg E_{s+1}(x, t)$, we have $K_0(x, r(t), t, r(x))$. Consequently, it is possible $K_0(x, y, r(x))$ or $K_0(r(x), y, x)$. Whence we obtain: $k_1 \cdot k_2 = (0, 1, \dots, s + 1, 3s + 4, \dots, 4s + 4)$, i.e. the product $(s + 2) \cdot (s + 2)$ gives $2s + 3$ labels of the algebra.

Suppose now that $s + 3 \leq k_2 \leq 2s + 1$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $k_2 \cdot k_1$ we obtain: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$, $E_l^*(t, r(x))$ and $\neg E_{l-1}^*(t, r(x))$ for some $2 \leq l \leq s$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we have: $E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose that $k_2 = 2s + 2$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $(2s + 2) \cdot (s + 2)$ we obtain: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we have: $E_{s+1}(x, y)$ and $(2s + 2) \cdot (s + 2) = \{3s + 4\}$. We can establish similarly that if $k_2 = 2s + 3$ then $k_1 \cdot k_2 = \{s + 1\}$ and $(2s + 3) \cdot (s + 2) = \{3s + 4\}$.

Suppose now that $2s + 4 \leq k_2 \leq 3s + 2$. Then we have the following: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $k_2 \cdot k_1$ we show similarly that $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose that $k_2 = 3s + 3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $(3s + 3) \cdot (s + 2)$ we show similarly that $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose now that $3s + 4 \leq k_2 \leq 4s + 3$. Then we have: $K_0(r(t), y, t)$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s + 1$. We establish in this case that $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 2\}$. By considering the product $k_2 \cdot k_1$ we show similarly that $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{s + 2\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 2\}$. By considering the product $(4s + 4) \cdot (s + 2)$ we show similarly that $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{s + 2\}$.

Case 4: $s + 3 \leq k_1 \leq 2s + 1$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$, $E_{l_1}^*(t, r(x))$ and $\neg E_{l_1-1}^*(t, r(x))$ for some $2 \leq l_1 \leq s$.

If $s + 3 \leq k_2 \leq 2s + 1$ then $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Then we obtain: $E_{s+1}(x, y)$. If $l_1 > l_2$ then $k_1 \cdot k_2 = \{l_1\}$. If $l_1 = l_2$ then $k_1 \cdot k_2 = \{0, 1, \dots, l_1, 4s + 5 - l_1, \dots, 4s + 4\}$. If $l_1 < l_2$ then $k_1 \cdot k_2 = \{4s + 5 - l_2\}$.

Suppose that $k_2 = 2s + 2$. Then we have: $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{l_1\}$.

Consider the product $(2s + 2) \cdot k_1$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Whence we obtain: $E_{s+1}(x, y)$ and

$k_1 \cdot k_2 = \{4s + 5 - l\}$. We establish similarly that if $k_2 = 2s + 3$ then $k_1 \cdot k_2 = \{l_1\}$ and $(2s + 3) \cdot (s + 2) = \{4s + 5 - l\}$.

Suppose now that $2s + 4 \leq k_2 \leq 3s + 2$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $E_{s+1}(x, y)$. If $l_1 \geq l_2$ then $k_1 \cdot k_2 = \{l_1\}$. If $l_1 < l_2$ then $k_2 \cdot k_1 = \{l_2\}$.

Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$, $E_{l_1}^*(t, r(x))$ and $\neg E_{l_1-1}^*(t, r(x))$ for some $2 \leq l_1 \leq s$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $E_{s+1}(x, y)$. If $l_1 \geq l_2$ then $k_2 \cdot k_1 = \{4s + 5 - l_1\}$. If $l_1 < l_2$ then $k_2 \cdot k_1 = \{4s + 5 - l_2\}$.

Suppose that $k_2 = 3s + 3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$.

By considering the product $k_2 \cdot k_1$ we prove that $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose now that $3s + 4 \leq k_2 \leq 4s + 3$. Then we have: $K_0(r(t), y, t)$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s + 1$. We establish that in this case $\neg E_{s+1}(x, y)$. If $l_1 \geq l_2$ then $k_1 \cdot k_2 = \{2s + 3 - l_1\}$. If $l_1 < l_2$ then $k_1 \cdot k_2 = \{2s + 3 - l_2\}$. Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $E_{l_1}(x, t)$ and $\neg E_{l_1-1}(x, t)$ for some $2 \leq l_1 \leq s + 1$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $\neg E_{s+1}(x, y)$. If $l_1 > l_2$ then $k_2 \cdot k_1 = \{2s + 2 + l_1\}$. If $l_1 = l_2$ then $k_2 \cdot k_1 = \{2s + 3 - l_1, \dots, 2s + 2 + l_1\}$. If $l_1 < l_2$ then $k_2 \cdot k_1 = \{2s + 3 - l_2\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{2s + 3 - l_1\}$. Consider the product $(4s + 4) \cdot k_1$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Then we obtain $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{2s + 3 - l\}$.

Case 5: $k_1 = 2s + 2$. We have the following: $K_0(x, t, r(x))$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$.

If $k_2 = 2s + 2$ then we have $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$. Since $E_1^*(t, r(x))$, we have $E_1^*(x, r(t))$, and consequently $E_1(x, y)$. Then $k_1 \cdot k_2 = \{0, 1, 4s + 4\}$.

Suppose that $k_2 = 2s + 3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $E_1(x, y)$ and $k_1 \cdot k_2 = \{1\}$. Consider the product $(2s + 3) \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Consequently, we obtain: $E_1(x, y)$ and $k_2 \cdot k_1 = \{4s + 4\}$.

Suppose now that $2s + 4 \leq k_2 \leq 3s + 2$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{l\}$. Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$, $E_l^*(t, r(x))$ and $\neg E_{l-1}^*(t, r(x))$ for some $2 \leq l \leq s$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{4s + 5 - l\}$.

Suppose that $k_2 = 3s + 3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $k_2 \cdot k_1$ we establish that $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose now that $3s + 4 \leq k_2 \leq 4s + 3$. We have the following: $K_0(r(t), y, t)$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s + 1$. We establish that in this case $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{2s + 3 - l\}$. Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $E_l(x, t)$ and $\neg E_{l-1}(x, t)$ for some $2 \leq l \leq s + 1$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_1^*(y, r(t))$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{2s + 2 + l\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{2s + 2\}$. Consider the product $(4s + 4) \cdot k_1$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_1^*(y, r(t))$. Consequently, we obtain $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{2s + 2, 2s + 3\}$.

Case 6: $k_1 = 2s + 3$. We have the following: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$ and $E_1^*(t, r(x))$.

If $k_2 = 2s + 3$ then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $E_1^*(y, r(t))$. Whence we obtain: $E_1(x, y)$ and $k_1 \cdot k_2 = \{0, 1, 4s + 4\}$.

Suppose now that $2s + 4 \leq k_2 \leq 3s + 2$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{l\}$. By considering the product $k_2 \cdot k_1$ we establish similarly that $k_2 \cdot k_1 = \{4s + 5 - l\}$.

Suppose that $k_2 = 3s + 3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $k_2 \cdot k_1$ we establish that $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose now that $3s + 4 \leq k_2 \leq 4s + 3$. Then we have: $K_0(r(t), y, t)$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s + 1$. We establish in this case that $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{2s + 3 - l\}$. Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $E_l(x, t)$ and $\neg E_{l-1}(x, t)$ for some $2 \leq l \leq s + 1$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_1^*(y, r(t))$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{2s + 2 + l\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{2s + 2, 2s + 3\}$. Consider the product $(4s + 4) \cdot k_1$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$; $K_0(t, y, r(t))$, $\neg E_{s+1}(t, y)$, $E_1^*(y, r(t))$. Consequently, we obtain $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{2s + 3\}$.

Case 7: $2s + 4 \leq k_1 \leq 3s + 2$. We have the following: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$, $E_{l_1}^*(t, r(x))$ and $\neg E_{l_1-1}^*(t, r(x))$ for some $2 \leq l_1 \leq s$.

If $2s + 4 \leq k_2 \leq 3s + 2$ then $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ hold for some $2 \leq l_2 \leq s$. Whence we obtain: $E_{s+1}(x, y)$. If $l_1 > l_2$ then $k_1 \cdot k_2 = \{4s + 5 - l_1\}$. If $l_1 = l_2$ then $k_1 \cdot k_2 = \{0, 1, \dots, l_1, 4s + 5 - l_1, \dots, 4s + 4\}$. If $l_1 < l_2$ then $k_1 \cdot k_2 = \{l_2\}$.

Suppose that $k_2 = 3s + 3$. Then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{s + 1\}$. By considering the product $k_2 \cdot k_1$ we establish that $k_2 \cdot k_1 = \{3s + 4\}$.

Suppose now that $3s + 4 \leq k_2 \leq 4s + 3$. Then we have: $K_0(r(t), y, t)$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s + 1$. We establish in this case that $\neg E_{s+1}(x, y)$. If $l_1 > l_2$ then $k_1 \cdot k_2 = \{2s + 2 + l_1\}$. If $l_1 = l_2$ then $k_1 \cdot k_2 = \{2s + 3 - l_1, \dots, 2s + 2 + l_1\}$. If $l_1 < l_2$ then $k_1 \cdot k_2 = \{2s + 3 - l_2\}$. Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $E_{l_1}(x, t)$ and $\neg E_{l_1-1}(x, t)$ for some $2 \leq l_1 \leq s + 1$; $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_{l_2}^*(y, r(t))$ and $\neg E_{l_2-1}^*(y, r(t))$ for some $2 \leq l_2 \leq s$. Whence we obtain: $\neg E_{s+1}(x, y)$. If $l_1 > l_2$ then $k_1 \cdot k_2 = \{4s + 5 - l_1\}$. If $l_1 = l_2$ then $k_1 \cdot k_2 = \{0, 1, \dots, l_1, 4s + 5 - l_1, \dots, 4s + 4\}$. If $l_1 < l_2$ then $k_1 \cdot k_2 = \{l_2\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{2s + 2 + l_1\}$. Consider the product $(4s + 4) \cdot k_1$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$; $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$, $E_l^*(y, r(t))$ and $\neg E_{l-1}^*(y, r(t))$ for some $2 \leq l \leq s$. Then we obtain $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{2s + 2 + l\}$.

Case 8: $k_1 = 3s + 3$. We have the following: $K_0(r(x), t, x)$, $\neg E_{s+1}(x, t)$ and $\neg E_s^*(t, r(x))$.

If $k_2 = 3s + 3$ then we have: $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{0, 1, \dots, s + 1, 3s + 4, \dots, 4s + 4\}$.

Suppose now that $3s + 4 \leq k_2 \leq 4s + 3$. Then we have: $K_0(r(t), y, t)$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s + 1$. We establish in this case that $\neg E_{s+1}(x, y)$. If $l = s + 1$ then $k_1 \cdot k_2 = \{s + 2, \dots, 3s + 3\}$. If $l < s + 1$ then $k_1 \cdot k_2 = \{3s + 3\}$. Consider the product $k_2 \cdot k_1$. We have the following: $K_0(r(x), t, x)$, $E_l(x, t)$ and $\neg E_{l-1}(x, t)$ for some $2 \leq l \leq s + 1$; $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $E_s^*(y, r(t))$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{3s + 3\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $\neg E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{3s + 3\}$.

Consider the product $(4s + 4) \cdot k_1$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$; $K_0(r(t), y, t)$, $\neg E_{s+1}(t, y)$ and $\neg E_s^*(y, r(t))$. Then we obtain $\neg E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{3s + 3\}$.

Case 9: $3s + 4 \leq k_1 \leq 4s + 3$. We have the following: $K_0(r(x), t, x)$, $E_{l_1}(x, t)$ and $\neg E_{l_1-1}(x, t)$ for some $2 \leq l_1 \leq s + 1$.

If $3s + 4 \leq k_2 \leq 4s + 3$ then we have: $K_0(r(t), y, t)$, $E_{l_2}(t, y)$ and $\neg E_{l_2-1}(t, y)$ for some $2 \leq l_2 \leq s + 1$. Whence we obtain: $E_{s+1}(x, y)$. If $l_1 \geq l_2$ then $k_1 \cdot k_2 = \{4s + 5 - l_1\}$. If $l_1 < l_2$ then $k_1 \cdot k_2 = \{4s + 5 - l_2\}$.

Suppose that $k_2 = 4s + 4$. Then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $E_{s+1}(x, y)$ and $k_1 \cdot k_2 = \{4s + 5 - l_1\}$.

Consider the product $(4s + 4) \cdot k_1$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$; $K_0(r(t), y, t)$, $E_l(t, y)$ and $\neg E_{l-1}(t, y)$ for some $2 \leq l \leq s + 1$. Then we obtain $E_{s+1}(x, y)$ and $k_2 \cdot k_1 = \{4s + 5 - l\}$.

Case 10: $k_1 = 4s + 4$. We have the following: $K_0(r(x), t, x)$ and $E_1(x, t)$.

If $k_2 = 4s + 4$ then we have: $K_0(r(t), y, t)$ and $E_1(t, y)$. Whence we obtain: $E_1(x, y)$ and $k_1 \cdot k_2 = \{4s + 4\}$.

Thus, the product $k_1 \cdot k_2$ has the greatest number of labels, i.e. $2s + 3$, in four cases:

- (1) $k_1 = s + 1$ and $k_2 = 3s + 4$;
- (2) $k_1 = k_2 = s + 2$;
- (3) $k_1 = k_2 = 3s + 3$;
- (4) $k_1 = 3s + 4$ and $k_2 = s + 1$.

Consequently, the algebra $\mathfrak{P}_{\mathcal{M}'_{s,2,2}}$ is strictly $(2s + 3)$ -deterministic. \square

3. Conclusion

We investigated algebras of binary isolating formulas for \aleph_0 -categorical 1-transitive non-primitive weakly circularly minimal theories of convexity rank greater than 1 with a trivial definable closure having a non-trivial monotonic-to-left function acting on the universe of a structure. We also proved their non-commutativity and established their strict m -deterministicity for some natural m . It would now be interesting to describe the corresponding algebras for theories having a non-trivial monotonic-to-right function.

References

- Altayeva A.B., Kulpeshov B.Sh., Sudoplatov S.V. Algebras of distributions of binary isolating formulas for almost ω -categorical weakly o-minimal theories. *Algebra and Logic*, 2021, vol. 60, no. 4, pp. 241–262. <https://doi.org/10.33048/alglog.2021.60.401> (in Russian)
- Altayeva A.B., Kulpeshov B.Sh. Almost binarity of countably categorical weakly circularly minimal structures. *Mathematical Notes*, 2021, vol. 110, no. 6, pp. 813–829. <https://doi.org/10.1134/S0001434621110195>
- Baikalova K.A., Emelyanov D.Yu., Kulpeshov B.Sh., Palyutin E.A., Sudoplatov S.V. On algebras of distributions of binary isolating formulas for theories of abelian groups and their ordered enrichments. *Russian Mathematics*, 2018, vol. 62, no. 4, pp. 1–12. <https://doi.org/10.3103/S1066369X18040011>
- Bhattacharjee M., Macpherson H.D., Möller R.G., Neumann P.M., *Notes on Infinite Permutation Groups*. Lecture Notes in Mathematics 1698. Springer, 1998, 202 p.
- Cameron P.J. Orbits of permutation groups on unordered sets, II. *Journal of the London Mathematical Society*, 1981, vol. 2, pp. 249–264.
- Droste M., Giraudet M., Macpherson H.D., Sauer N. Set-homogeneous graphs. *Journal of Combinatorial Theory Series B*, 1994, vol. 62, no. 2, pp. 63–95.
- Emelyanov D.Yu., Kulpeshov B.Sh., Sudoplatov S.V. Algebras of distributions for binary formulas in countably categorical weakly o-minimal structures. *Algebra and Logic*, 2017, vol. 56, no. 1, pp. 13–36. <https://doi.org/10.1007/s10469-017-9424-y>

8. Emelyanov D.Yu., Kulpeshov B.Sh., Sudoplatov S.V. Algebras of distributions of binary isolating formulas for quite o-minimal theories. *Algebra and Logic*, 2019, vol. 57, no. 6, pp. 429–444. <https://doi.org/10.1007/s10469-019-09515-5>
9. Emelyanov D.Yu., Kulpeshov B.Sh., Sudoplatov S.V., Algebras of binary formulas for compositions of theories. *Algebra and Logic*, 2020, vol. 59, no. 4, pp. 295–312. <https://doi.org/10.1007/s10469-020-09602-y>
10. Kulpeshov B.Sh., Sudoplatov S.V. Algebras of binary formulas for weakly circularly minimal theories with non-trivial definable closure. *Lobachevskii Journal of Mathematics*, 2022, vol. 43, no. 12, pp. 3532–3540. <https://doi.org/10.1134/S199508022215015X>
11. Kulpeshov B.Sh. Algebras of binary formulas for \aleph_0 -categorical weakly circularly minimal theories: piecewise monotonic case. *Siberian Electronic Mathematical Reports*, 2023, vol. 20, no. 2, pp. 824–832. <https://doi.org/10.33048/semi.2023.20.049>
12. Kulpeshov B.Sh., Sudoplatov S.V. Algebras of binary formulas for \aleph_0 -categorical weakly circularly minimal theories: monotonic case. *Bulletin of the Karaganda University. Mathematics series*, 2024, no. 1 (113), pp. 112–127. <https://doi.org/10.31489/2024M1/112-127>
13. Kulpeshov B.Sh. Algebras of binary formulas for weakly circularly minimal theories with trivial definable closure. *Sib. Math. J.*, 2024, vol. 65, no. 2., pp. 316–327. <https://doi.org/10.1134/S0037446624020071>
14. Kulpeshov B.Sh., Macpherson H.D. Minimality conditions on circularly ordered structures. *Mathematical Logic Quarterly*, 2005, vol. 51, no. 4., pp. 377–399. <https://doi.org/10.1002/malq.200410040>
15. Kulpeshov B.Sh. On \aleph_0 -categorical weakly circularly minimal structures. *Mathematical Logic Quarterly*, 2006, vol. 52, no. 6., pp. 555–574. DOI 10.1002/malq.200610014
16. Kulpeshov B.Sh. Definable functions in the \aleph_0 -categorical weakly circularly minimal structures. *Siberian Mathematical Journal*, 2009, vol. 50, no. 2., pp. 356–379. (in Russian)
17. Kulpeshov B.Sh. On indiscernibility of a set in circularly ordered structures. *Siberian Electronic Mathematical Reports*, 2015, vol. 12, pp. 255–266. <https://doi.org/10.17377/semi.2015.12.021> (in Russian)
18. Kulpeshov B.Sh., Verbovskiy V.V. On weakly circularly minimal groups. *Mathematical Logic Quarterly*, 2015, vol. 61, no. 1-2., pp. 82–90. <https://doi.org/10.1002/malq.201300076>
19. Kulpeshov B.Sh., Altayeva A.B. Binary formulas in countably categorical weakly circularly minimal structures. *Algebra and Logic*, 2016, vol. 55, no. 3., pp. 341–241. <https://doi.org/10.1007/s10469-016-9391-8>
20. Kulpeshov B.Sh. On almost binarity in weakly circularly minimal structures. *Eurasian Mathematical Journal*, 2016, vol. 7, no. 2., pp. 38–49.
21. Kulpeshov B.Sh., Altayeva A.B. Equivalence-generating formulas in weakly circularly minimal structures. *Reports of National Academy of sciences of the Republic of Kazakhstan*, 2014, no. 2, pp. 5–10.
22. Kulpeshov B.Sh. Weakly o-minimal structures and some of their properties. *The Journal of Symbolic Logic*, 1998, vol. 63, no. 4., pp. 1511–1528. <https://doi.org/10.2307/2586664>
23. Kulpeshov B.Sh. A criterion for binarity of almost ω -categorical weakly o-minimal theories. *Siberian Mathematical Journal*, 2021, vol. 62, no. 2., pp. 1063–1075. <https://doi.org/10.1134/S0037446621060082>
24. Macpherson H.D., Marker D., Steinhorn C. Weakly o-minimal structures and real closed fields. *Transactions of the American Mathematical Society*, 2000, vol. 352, no. 12., pp. 5435–5483.

25. Shulepov I.V., Sudoplatov S.V. Algebras of distributions for isolating formulas of a complete theory. *Siberian Electronic Mathematical Reports*, 2014, vol. 11, pp. 380–407.
26. Sudoplatov S.V. *Classification of countable models of complete theories*. Novosibirsk, NSTU Publ., 2018. (in Russian)

Об авторах

Алтаева Айжан Бакаткалиевна,
PhD по математике,
Международный университет
информационных технологий,
Алма-Ата, 050040, Казахстан,
vip.altayeva@mail.ru,
<https://orcid.org/0000-0001-9238-7131>

Кулпешов Бейбут Шайыкович,
д-р физ.-мат. наук, проф., Институт
математики и математического
моделирования МНВО РК,
Алма-Ата, 050010, Казахстан,
kulpesh@mail.ru;
Казахстанско-Британский
технический университет, Алма-Ата,
050000, Казахстан,
b.kulpeshov@kbtu.kz;
<https://orcid.org/0000-0002-4242-0463>

About the authors

Aizhan B. Altayeva, PhD in
Mathematics, International
Information Technology University,
Alma-Ata, 050040, Kazakhstan,
vip.altayeva@mail.ru,
<https://orcid.org/0000-0001-9238-7131>

Beibut Sh. Kulpeshov, Dr. Sci.
(Phys.-Math.), Prof., Institute of
Mathematics and Mathematical
Modeling, Alma-Ata, 050010,
Kazakhstan, kulpesh@mail.ru; Kazakh
British Technical University,
Alma-Ata, 050000, Kazakhstan,
b.kulpeshov@kbtu.kz,
<https://orcid.org/0000-0002-4242-0463>

Поступила в редакцию / Received 01.08.2024

Поступила после рецензирования / Revised 02.09.2024

Принята к публикации / Accepted 09.09.2024